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Questionl:-The Social reformer of Kerala who conducted villuvandi samaram
against caste descriminations

T UM@GUT(HSEH&S eTHTTs aflevgyeuenTly Fomrb BLSHw Carerrellen Feps
Sidmsseund
A:-Sahodaran Ayyappan
sCansrer uuliLie
B:-Ayyankali
Uwensmefl
C:-Chattmpi Swamikal

FU_L b9 seumOser

D:-Vaikunda Swamikal
U GHEWTL &eU TLOISET
Correct Answer:- Option-B

Question2:-Who established Thattavabodhini Sabha at Calcutta in 1839 ?
1839 Qe svagzmeller gsHeu Curdlall genuamus Bimefweur wmy ?

A:-Keshab Chandra Sen
Cagls by Glgen
B:-Debendranath Tagore
CaCLBETETS ey
C:-Swami Vivekananda
geumdl eNCousrenbsir
D:-Dayananda Saraswathi
SWITEHS FTenels
Correct Answer:- Option-B
Question3:-The place where the First War of Indian Independence Broke out in 1857



1857 Qe Qipglw spdlrd (psenipgaler ol ss GLb
A:-Luknow
&GerT
B:-Kanpur
SITGOTLLT
C:-Meerut
By
D:-Delhi
QL_cad
Correct Answer:- Option-C

Question4:-Oath of Tennis Court was related to which among the following
revolutions ?

QLeraflen enwgrarsslen 2 miFlbomdl Wereimb Lyl ssafle eraaiLer AgrryamLwg) ?
A:-French Revolution
9QrERa Yyl &
B:-Cuban Revolution
Syl Lyl
C:-Chineese Revolution
Eer L&)
D:-Russian Revolution
JRETRE]) (WY
Correct Answer:- Option-A

Question5:-Who is the present Chairman of Indian space Research organization ?
@BdHw eflarbeuet <,rmigFs ewlider sHCLTMSL Senaveury wimy ?
A:-Dr. S. Somanath
L& eTe. Gamopbrs
B:-Dr. V. Narayanan
L&y 6Sl. Brymwemreo
C:-Dr. K. Shivan
LrsLy Gs. SHeues
D:-Dr. K. Radhakrishnan
L&l Gs. prsnd(meigemne

Correct Answer:- Option-B

Question6:-Kerala Folklore Academy situated in which district of Kerala



Carer pri(liyp SsrLwl Carermeilen 6Thg TaUL LS SenopbgieTeng) ?
A:-Thrissur
EmEeT
B:-Kannur
& GOOT GUOITIY
C:-Kozhikode
Cam&Gsm(h
D:-Thiruvananthapuram
SlmeuenpsLmd
Correct Answer:- Option-B

Question7:-In 2022 Fifa World Cup Football final, which countries team was
defeated

2022 @)ab, oolesum 2 e&s Carlau sreounbg @mnidl Cumiiquie, erhg B iqem jemnfl
Cammsiqssliul L g,
A:-Brazil
Cr&led
B:-France
[ rresten
C:-Spain
e QLIubl 6ot
D:-England
@ miglembg)
Correct Answer:- Option-B
Question8:-The poetry collection Ambalamani is the work of
Sjbuewent eremm sellengs CsmELL @eurler LenL LiL|
A:-Balamaniamma

LIMGOMLO G WILDLO T

B:-M. T. Vasudevan Nair

6. lg. eUTHEHEU6T BT

C:-O. N. V. Kurup
e.crem. 6. @ (mL

D:-Sugatha Kumari
&5 Gl



Correct Answer:- Option-D

Question9:-In which year, Kumaran Asan National Institute of Culture was
established at Thonnakkal ?

THS ,aiqe, Hgreararssale @rer amear Cailw seomssmy Hlmeueard Blneuliul L g ?
A:-1958

B:-1962
C:-1965
D:-1972

Correct Answer:- Option-A
Questionl0:-In 2024 world chess Championship who was defeated by D. Gukesh ?
2024 2 s ggymis srblweraglide, 4. &Csay wrany CHTHSIGSSTT ?
A:-Magnus Carlsen
C&esey STyed&es
B:-Veselin Tapalov
cuGlaalen LG e

C:-Ding Liren
lq-B1 OIGl 60T
D:-Garry Kasparov
Gaifl srevuCrmey
Correct Answer:- Option-C
Questionll:-The deepest point in the Indian Ocean is
@BHw CummisL e W& pLpLOmTeT @)L Lb
A:-Sunda Deep
&hST el
B:-Challenger Deep
CFevEpar Lol
C:-Brownson Deep
76, 6TEeT Lo L
D:-Factorian Deep
0o GLISGLTHIWE el
Correct Answer:- Option-A
Questionl2:-The hot wind that blows over the gangetic plain during summer is



Qeuulled smevsHed shims Fobeuafluileh aisd CeuliLig srHm)
A:-Kalabaisakhi
FHFOMLIFTE
B:-Loo
i)
C:-Sirocco
HCrmsCGam
D:-Khamsin
FHLDE 6T
Correct Answer:- Option-B

Questionl13:-Which among the following States have the largest area under forest
cover in India ?

GemeumLd @bSlumedler wrblomseats ode srhser Lrliuare] Cgmeamr rbleb erg ?
A:-Nagaland
BI&TEOMHI)
B:-Meghalaya
Gogmeowim
C:-Madhya Pradesh
wgHws 9rGsed
D:-Uttar Pradesh
2 5711 rCsad
Correct Answer:- Option-C

Questionl4:-The first hydroelectric Project in Kerala, Pallivasal is located on which
among the following rivers ?

Cayermellen LeTafloungadlled Sianbgiemer (P Hibler FL L b 19eTeu(HLd 6Thg BHludled
SIMLDBGIETETS) 7
A:-Muthirappuzha
WpSSITL P
B:-ldamalayar
@)L epeowimm)
C:-Mullayar
(PLEWIT)
D:-Cheruthoni Aar
CemCgrentl <,m



Correct Answer:- Option-A
Question15:-The most polluted river in kerala is
Carermedled WHa|b TS L B

A:-Chaliyar
gmatlwm

B:-Kallaipuzha
&EOENELILILIT

C:-Karamana Aar
SO <M

D:-Kadalundipuzha
&L_g|GuoT g L{LIT

Correct Answer:- Option-B

Questionl6:-Which of the following statements best explains the role of NITI Aayog
in India ?

@ndwraler Bl <Cursdler Lkiams Wearaumbd 6Ths SiM&sams Hpliuins edlers@EHng ?

A:-NITI Aayog centralizes planning decision-making, reducing the autonomy of
states in policy matters.

BlE =,Cuims Sl wHmibd wpigbeuphiliumg awwlinbhssdngl, Qararams
ellagwmigefled wrlomsaier swm_fows Gmnssng)

B:-NITI Aayog focuses on the economic growth of the country and ignores
regional disparities
BlE <, Cuing Brligen Qurmermsmy eueriFslude) seuard CFsgSng wOHmID WrmHSw
FTHDSSTDE|SEMETLI L|DE&HentSEng)

C:-NITI Aayog facilitates the creation of state-specific policies by fostering
collaboration between the central and state governments

SEW HMID Bl THSHEHEE Qe G égiempLienLl UETFLILSET LPELD Tble-
FDBSLNET C(STETanssmeT 2 (HeuT&HGHeusnN@ Hldl <,Cwins 2 sa|flng)

D:-NITI Aayog's primary focus is on implementing policies without consulting
state goverments to ensure uniformity in development

aueTFSludled Egmen sanenoenl 2 Mg QFLICUSDEHTS OTHID iFdHeEHL 6
s0bSTCOTESETD CaTaranssamer Fwaubsgieudle Bl < Cursdler (pserenlo
SEUGTLD 2_CTETE)

Correct Answer:- Option-C

Question17:-Which of the following is NOT a key feature of the New Economic Policy
(NEP) of 1991 in India ?

Yeeu(meuemeummdled ergl @bdlwimaliier 1991 @b ey emrigem Ldlw Cummermsmrés



Cametanaulen(NEP) wpéflu ibgFb e ?
A:-Liberalization of trade and investment

QUFSSHD HMILD (PSEOL_ML STTTATLDWLDTEEGSO
B:-Nationalization of key industries

wp&dw gmdlasamer CHHWILWILLTEEGSED
C:-Devaluation of the Indian Rupee

@S epumuller HLILE GaDLLY
D:-Privatization of state-owned enterprises

SATEE@ CEFTHSLLTET HlnieUeThISEm 6T Seufl T T @60
Correct Answer:- Option-B

Questionl18:-Which of the following is a specialized financial institution established
in India to promote rural development and provide credit for agricultural and rural
industries ?

Slpmoliym eueTrESlenw 2amé@GellILgnHE&L aleusmuid womib Srmoliym CFTlasEnss,
&L QULMHIGeUSNEGL @bSluimeliler Bimeuiu’ L fply Hl$ flmeierd erg) ?
A:-National Bank for Agriculture and Rural Development (NABARD)
Gauermemrento LHMID Slpmolinym Cowbur’ (Hssrer Gsslw eunidl (NABARD)
B:-Small Industries Development Bank of India (SIDBI)
@l Smegre Cubur’ (H eumdl (SIDBI)
C:-Industrial Development Bank of India (IDBI)
@Sl Asrdeogienn Cuowum’ () eukidl(IDBI)
D:-Life Insurance Corporation of India (LIC)
@pHwu et sl (Hd spasb(LIC)
Correct Answer:- Option-A

Question19:-Which of the following statements about the Green Revolution in India
is NOT correct ?

@nSlumeiler ugenols Lyl gl updlu Gemeumd sapmisetcy 6rg) FFlwmas6 ?

A:-The Green Revolution led to the adoption of high-yielding variety (HYV)
seeds, chemical fertilizers, and pesticides in Indian agriculture

el Lrld @bdlw elleusmussler oifls waE@eo b cuams(HYV) allangsdr, pamwer
2 JRISET OMID LYFH&CEsToeismer grhmstsmerer cudlel@GSss

B:-The Green Revolution primarily focused on promoting organic farming
methods and reducing chemical inputs in agriculture

ugewLl LFLdl (pasereng @Quineans GCouammamentd (Penh& a6 26rd@edlliLglayibd

feugmugdled pemuer 2 dratf(hasmerd GmnULEWID Seuad CFasduig,



C:-The Green Revolution resulted in a significant increase in wheat and rice
production

gl Lrl8l Cargiend womibd fl8 2 pusduier @HlU 55585 dlafliemL
THUGSEWS)

D:-The Green Revolution contributed to an increase in agricultural productivity
but also led to regional disparities in terms of access to technology and benefits

ugamwl 4rldl efleusmu 2 pusHsdnenar dlsflas unsallssg, e CgmlemiL LD
LLHMILD BETENLOSEMET ami@Geudled T FHDSSTLHE|SEREGD allflel G558
Correct Answer:- Option-B
Question20:-Which of the following crops is known as the 'Golden Fiber' of India ?
Gemeumid LudlFsetled erg @bSlumedler 'smis B erenm eP&sLILIHS DG ?
A:-Cotton
LSS
B:-Banana Fiber
GUITGHLD [T
C:-Wheat
Cargleno

D:-Jute

FETEV

Correct Answer:- Option-D

Question21:-In which landmark case did the Supreme Court of India, while
delivering it's verdict, state that '"there is no anti- thesis between the Fundamental
Rights and Directive Principles of State Policy. One supplements the other' ?

TG eurrHmF HpliLNéss alpsdle, @bHw o F& BHoammbd sarg STliemu (LpLenLwTs
aupmidl, 'St 2 flengeT womib wrbled Casmerensuler euldlam(hge
QameTanss@ehsE Qe Cu 6Thg (pramUThibd @dame. Semal HGmrearenn Hlriiderme'
ereum) Fadlwg) ?

A:-Maneka Gandhi vs Union of India
Cuenar srbdl VS @b epemmluib

B:-Kesavananda Bharati vs State of Kerala

Cagauranbg LITrSl vs Carer wmbleid

C:-K.M. Nanavati vs State of Bombay

G&.6TID. (I'I_")I'I'GOTI'I'@_IQ VS LIDLIMUI LDrrﬁa)Lb

D:-Nirmal Singh Kahlon vs State of Punjab

Blo6 Skl sramevmen VS LIEh&TLI Wmbleod



Correct Answer:- Option-B

Question22:-Tarkunde Committee, Dinesh Goswami Committee and Indrajit Gupta
Committee, all investigated the same issue in India. What is the common subject of
inquiry examined by all these committes ?

sMEHGL G, SGanay Comavaurdl G LHnbd QBETSs GUST G WS
SmarsgId @bSlumeiler Gy Wrsfleearanw eNlgmflsser. QBESE @ (LHSHET DHMESS)LD
<L T Cungleurer edlgmyenents Cummer erg) ?

A:-Electoral Reforms
Caiged STl mssmaar

B:-Freedom of Press
LsSflens &5HS LD

C:-Women Issues
Quenrgar ArsHlenenaer

D:-Globalisation

9 QOSHLOWILDTHSED

Correct Answer:- Option-A

Question23:-With reference to the writ, Mandamus, consider the following
statements

1. Mandamus literally means a command or an order.

2. Mandamus will not issue against a private individual.

3. Mandamus will issue against the President of India.

4. Mandamus is used to order the authority which refuses to perform a public duty.
Which of the statement given above is/are correct ?

FI e wenevls ummsseiery, LA6malmd M&EmSSMeTd &o6ulLBISET.
1. OIETL D6 6TGITLIG) 6(1hH SLLEDET SO 2 SSTmeld GDGSHng).
2. @ sy BUEE, eTdlpms el ev WplikssiuLrg.
3.0bSWLS Gl4UTEsS SMOUHES THITsE e oev UADLa&E@LD.
4. Qurgs sLemwawd Qe Ln&GELD HsTrsms <,amenTuldl(HeuSn @, T LDV
LwerU(hgsULHE DG
Cwlo arhssiul(herer sanpmiseie erg/Fflwmeng ?
A:-1,2 and 3
1,2 opmib 3
B:-1,2 and 4
1,2 opmib 4

C:-1,3and 4
1,3 wpmib 4



D:-All the above are correct

Cuohammu STSEID FFlumarenel

Correct Answer:- Option-B

Question24:-Consider the following statements with regard to the duties of Election
Commission of India:

1.To prepare electoral rolls

2. To notify the dates and schedules of elections

3. To grant recognition to political parties

4. To advice the President to matters relating to the disqualifications of the
members of Parliament.

Which of the statements given above is/are correct ?

@BHwS Csrze0 yamaisSder sLamger CgmLfLmer MeareuhDd ghmsamens
&6 6T U MBI GET.
1. aumgsmery UL iIqLLSmeTs SWTFlS 56
2. Caisosaier Cadladr LHMILD L L alamearaamer mledlliLig.
3. @flwe s 85EHdHE ABIESTID CULPBIEGSH6D.
4. prmenpwern 2 nliblariseien @d Bssb Aasmurear eflagwbisefler permmdudss
2, COMFNET QULPMHIGSHED
CuCe GQarhssliLil(herer sapmiseiey erg sflumeag ?
A:-1,2 and 3
1,2 wpmin 3
B:-2,3 and 4
2,3 womid 4
C:-1,3and 4
1,3 wpmib 4
D:-All the above are correct
Cohemmu STSFEID FFlumareal

Correct Answer:- Option-D
Question25:-Where was India's first Constitution park inaugurated in 2024 ?
@ndwralen (psed Fflweenoli] Lmsr 2024 @6 ermhi@ Snssiul L g ?

A:-Hyderabad
MAMSTTLTS

B:-New Delhi
Lgl GLdvadl

C:-Pune



L Ger

D:-Bhopal
Guimumed
Correct Answer:- Option-C

Question26:-Consider the following statements with regard to the Responsible
Tourism project in Kerala :

1. The Responsible Tourism project was launched in Kerala in 2008.

2. Responsible Tourism aspires to foster better economic benefits and the well
being of local people and communities.

3. This project focuses on three aspects : social, environmental and economic.
4.1n 2013, the responsible tourism project in Kumarakom received the Ulysses
Award.

Which of the statements given above is/are correct ?

Carermelled Gummlierer smmieom L b GgTLfumen [emalHLd M&EMSHMm6Td

&6 6T U MBIGET.

1. Qummiyerer smHmier S b 2008 @6 Cayermefled Ggm_miglLL L g.

2. Qummilierer &HmieT b CLTHETTSTT HETELDHENETULD 2 ETEHT D&SHET LOHMILD
FePSMBIGETIET BOGUTPEGUU|D GUETTES 6ll(HLOLSDE).

3. @Bs S b epenn 2jbgmigafle) seuard CFSHIS g ; Fps, FOMIFS:PO LHMILD
GCummerTms LD

4. 2013 @ev, GLrssHled 2 erer Hummliyerer soHmieom Sl L b wedlgen adlmansls CubHmg.

Cwleo Qam@ssliul L Hyhsmasaile cTenel Fflumareneu ?

A:-1,2 and 3
1,2 wpmib 3
B:-1,2 and 4
1,2 opmib 4
C:-1,3and 4
1,3 wpmib 4
D:-All the above are correct
Cuhammu SmarsgIb FFlunearenal

Correct Answer:- Option-D
Question27:-The new Chairperson of Kerala State Human Rights Commission

Caper wrblev waflg o flanwger oy, amenTigdlen LEw senaalf

A:-Justice Alexander Thomas
BHUS CeGamenrTL T HMoe



B:-V. Geetha
ofl. Eam

C:-Justice M.M. Pareed Pillai
BHLS erid.erid. LIS GeTener

D:-Justice Antony Dominic
BHLS el GlLmdlefls

Correct Answer:- Option-A

Question28:-Consider the following statements with regard to the Kerala Model of
Development :

1. Kerala model as a set of high material quality of life indicators coinciding with
low per capita incomes.

2. Amartya Sen and Jean Dreze have long championed Kerala's development
experience in their numerous works.

3. John Ratcliffe showed that the causative factor underlying Kerala's social
achievements was social Justice.

4. The main criticism is that Kerala Model has not created enough jobs, leading
many people to work abroad.

Which of the statements given above is/are correct ?

Carer cuarjasl wrdlflepwis QUmmSSHeUenT GeTeUHD FmDHmiGamensd Heleflu|migar.

1. aennbBs SslBUT UHLTTSIIL 6 5SILICLTEGD 2 W eUTPSMES S7& GNISTL g sertler
Qarguurs Garer wrdlifl.

2. 2oisHwur Ceer HMID e igGra HCWITT hisET erymerorer UaL LiLjgefd
Cayermellen cueTidsl enLicuGens BTl STons <y 5iflSg ereren.

3. Caretmellen Feps FTHMESHEHEE SilqLILLWLITem Sryewt Feps B erenm eymen

LG eflesll S iq G,

4. Gsyer wrdlfl Cumgimer CouamaemULILISMm6T 2 (HeUT&E&HeN M6, @S LI
Qeuatipr(hsatier Couaney GFiw eufleu@ssg eTaniCs (&Sl elbrgeid.

CuCe GQarhssliLil(herer sapmseiey erg sflwumeag ?

A:-1,2 and 3
1,2 opmib 3

B:-1,2 and 4
1,2 opmib 4

C:-1,3and 4
1,3 wpmib 4

D:-All the above are correct



CuopammMu SmaTsFID FFlumaramal

Correct Answer:- Option-D

Question29:-The only Regional Rural Bank from India included in the 2024 Forbes
list of the world's best banks.

> odlen Fpbs cumidlgefien 2024 SCumilien L iquisdléd @\bSlwimelledmbs)
Carssliu_(Herer eCr pmBHw Slymoliym eurkisl.
A:-Federal Bank
0o@LIL_6) cUMBI&)
B:-NABARD Bank
BUTT®H cuUbig)
C:-Kerala Gramin Bank
Gayer Slpmp eumkid)
D:-Malanad Rural Development Bank
BT eHred GlleualiGlner ambis

Correct Answer:- Option-C
Question30:-Following option is not a type of system software
Yetreu(meuemeLD I @&l e euamsWITen senflet lerlLmmeT jeben

A:-Windows

N evorGL_men

B:-Linker
O BISIT
C:-MS Excel
GTLDGTGV GTHFE
D:-Loader
GeomLiy
Correct Answer:- Option-C
Question31:-Device that helps prevent congestion and data collisions
Amfleed wHmD sre| Corsdsmars &hés 2 e b FTSETD
A:-Proxy Server
Lipm&sed &reur
B:-Switch
evelll_&

C:-Hub



amLl

D:-Gateway

CaL_Gau

Correct Answer:- Option-B
Question32:-IT Act, 2000 is notified on
solg L1b, 2000 eremm Hlefssiii’ L g

A:-26 Jan. 1999
26 sameurfl 1999

B:-15 Aug. 1999
15 oy sev 1999

C:-17 Oct. 2000
17 <=6CLmuy 2000

D:-10 Jan. 2000
10 syereuifl 2000

Correct Answer:- Option-C

Question33:-The National Awards for e-Governance 2024 were conferred during the
27th National conference on e-Governance held in which city ?

2024 o1 ey @-seuganevgster CoFlw edl(mgiser eThs barsdle Banl_Cunm 276ug|

Coflw @) -seufarevgsrer MBI lger CLTE eUpmBISLILIL L 6.

A:-Mumbai
(PpLOeOL
B:-Chennai

Ol &erTen 6ot

C:-Kochi
(@F:3:2:3

D:-Delhi
Qe
Correct Answer:- Option-A

Question34:-Which of the following is an exemption under the Right to Information
(RTI) Act, 2005 ?

\Gevreu(meuemeuDled 6Tg SHeued SMlub 2 fenwd &L 1b (RTI) 2005 Gler &1p allewd s



Slafldsliul(Hererg) ?
A:-Information that would enhance the financial accessibility of government
departments
2ATES glanmaater HlE Samsme CbU(SFID SHeu6
B:-Information Pertaining to deliberations at cabinet meetings
SDOFFTMEUS Fal L BIG6T HenLGLmID eNleunsmhiseT CSTLFLTET $&e6608&e6T
C:-Information that would impede the process of Investigation
cllgrrenenr CFwepannamuUs SHEHEGD SHeL6D
D:-Judicial records of the appointment of Judges
Béludlser pluwend Ghlds hsgiamp Lgle ser
Correct Answer:- Option-B

Question35:-Which of the following statements accurately reflects a right of
consumers under the Consumer Protection Act, 2019 ?

Gevreu(mLd SiMldsemasafley orgl mISTGauTT ungaTliLg &L, 2019 G &1 mIsTGaumfler
o flevepw glevadlwions Wrduadlsding) ?

A:-Consumers have the right to demand unlimited returns on all purchased
products without any conditions
THS BlUFHSMEna@HD @)evedmned aUMmBISL enarsgIill CLmHLs@Ehd@GLD eurbUDHD S(HLOL
Campbd 2 flend HSTGUTHESG 2 6.

B:-Consumers can only seek redressal for complaints if they have a lawyer
representing them

BI&TCaMy griseerl WrdlblHsgieuinHSHID e alpsEEMEhT @ mbsTe L (HGW
L&TT&@H&H@E 76 STemr (Llg L.

C:-Consumers have the right to be informed about the quality, quantity, and
price of goods or services before making a purchase

Qamarpge Celieusna@, (e CLmmLser g Camausaflen Srb, ere| LHMILD eblene
G&Dsg ssauN b (HEs BIsTCanis@ 2 flenn o ewr(h.

D:-Consumers are not entitled to compensation for damages caused by
defective products if they have used the product improperly.

BISTCeuTT swrfllieu (wpeppwhm wpenpuied LiweTL(BSS A mbsSTD, GempuT(heTer
QumrpLsermed U@L CasmiaEnsE QUG Gup 2 fann @eeame.
Correct Answer:- Option-C

Question36:-Which of the following statement accurately describes a function of the
National Human Rights Commission (NHRC) under the Protection of Human Rights
Act, 1993 ?

Gemel (b 6ThS AMEms, 1993 yib ypanr(h wellg 2 flevser umgasTiiLF &L sHler S



Coflw weflg o flanwger gy amenrigdlen (NHRC) Geudum’ el geelwuwrs eleuflssng ?
A:-The NHRC can impose penalties on individuals for human rights violations.
wafls 2 flevw WBpasErssTs NHRC safipuisdr g sam_aarsamer elldlds (piq .

B:-The NHRC is empowered to investigate human rights violations only upon
receiving a formal complaint from a victim.

urdlasiul LeuflLBlmbgl e e Lstarl Qupp berarCr weflg 2 fanw Wpnaosamer
adlgrflss NHRC &@ 1idlsmrd o aor(.

C:-The NHRC can recommend measures to prevent human rights violations
and promote awareness of human rights issues.

weflg 2 fenw WBpasmers SHLILsHSTar pLollgdamassamer NHRC LiflbgianTss (Lpigub
HmIbd weflg 2 flenser UrFflenarser GMISE elfllLamTTenel 2ard@Hel&s (Lplgu|ib.

D:-The NHRC has the authority to directly enforce laws related to human rights
in India.

@ndwraled wels o fleanwser Qgrifurer FLmisamer Chriquirs wauhss NHRC &g,
SFSMID 2 dTerg).
Correct Answer:- Option-C

Question37:-Which of the following statements accurately reflects a provision of the
Protection of Children from Sexual Offences (POCSO) Act, 2012 ?

GemeumLd Hlsenssaflenr ergl, Lmdlwe GHorisatadl(mbHg GLbssmeTL]
ungamd@&(POCSO) s Lib, 2012 @eir em alldlevw giavadllwiors Wrduadsdng ?

A:-The POCSO Act allows for the trial of cases to be conducted in any court
without special provisions for child victims.

POCSO gL b, undlasliul L GLHeanssErssnear SmUL erhUTHEeT @eamoe 6Thb
BEenSHid cups@Gsamer algTilEs Siaindsdng.

B:-The POCSO Act mandates that all cases must be investigated and tried
within a specified time frame to ensure swift justice for child victims.

POCSO sl L 1b Syemansgl aulps@seEpd efemflasiinl (), urdlsslul L GLHamgsEhsd,
elenreuren fHevw 2 md QFlieugsHsrs GOUALL sTsbshHoysEer edlemissliuL
Gouair(HLb.

C:-The POCSO Act permits the disclosure of a child's identity during legal
proceedings to ensure transparency.

QeuatliLienL_ggeanenoanl 2 midl CFIeusHETE FL L BLellgsHmssailer CLTE @LWhansudler
L wrarsems celafludi. POCSO gL 1b Sia@indlsdng.

D:-The POCSO Act requires that consent from children under 18 years is valid
in cases of sexual interaction, provided they are in a relationship with the accused



uredlwe Csmjy eups@safler Gnmwb smiL il L ai@mLer 2 pelild @ mbsrad, 18
UWGISGL UL L GRhamgsaren eliLsd Cedaugurgbd ereamm POCSO s b Cammsnsg
Correct Answer:- Option-B

Question38:-Which of the following statements is true regarding the recent
development in the Indian economy as highlighted in current affairs ?

BL UL efleusmyrsaier Apiifssiiul (Hereruig @bHw QummermsmysHd Fbugdw
pTCarhHmBEISET GHHSS) GemeuhDd sadmisaticy 6Tg 2 amento ?

A:-The Indian government has decided to abolish the Production Linked
Incentive (PLI) scheme for white goods due to lack of interest from manufacturers.

o pHusSwrerygetO(HHg <Felld @eerssme, Ceoueranari GlLUmHL&@EhésTear 2 HLigs)
@eamansslLLl L casss0srens (PLI) L gag 1858 el @b oi7s (1plgey
CeuigeTeng,.

B:-The Indian government has selected 24 companies under the PLI scheme
for white goods, committing an investment of Rs. 3,516 crore.

QeueTenerts QummLg@EhsaTer PLI Sl sdlen S1p @bHw irs 24 Hlniouabisamens
Caibgshdg!, . 3,516 Camg (psedLlenL& GFuigereng.

C:-The Indian economy has seen a decline in foreign investments, leading to a
reduction in job creation.

@pHwuls Qurmerrgryb QeualBr () (PsdHsafler Ffleneis ser(Hererg), @)HemeD
Cauemaevls eumILIL|&ET @GHenDlene.

D:-The Indian government has announced that it will not pursue any further
collaborations in the FinTech sector.

seanLien QL& glanmuded Cogd eThs edgianpliLisamerbd CgTLrliGLmaudldene cremm)
QpElu sirs Sifleflsgidars).
Correct Answer:- Option-B

Question39:-Family engagement is considered essential in early childhood
education because

STOUSTL GBS Liheud soallude @Ghbu FhHiur®h Sjeudlwnnss smslubSng,
g evresiley

A:-It enables educators to integrate family culture and values into the
classroom and fosters personalised learning.
@8 soallwmeTiser @&HLbU SOTFFTISMSID WSHLILGMETLLD cuU@GLILImDuded
B manss 2 Hodng wHnID seflliLwuamssiul L SHD® eUaTTGS DG

B:-It allows teachers to implement standardised methods across different
family backgrounds.
@8 ueGeum @O UL Weraranflgatier sTlLIHSSUILLL (pepmsamer CFLLLIHSS



S FflwFsmer enndsEdng).

C:-lIt encourages educators to guide families toward adopting a uniform
cultural framework

GHDUBISET g rman sordsmy s Lawlienu ghnstsTarousn@ cudlsm L
socilwmeTisemer 2ard@elsHng).

D:-It reduces the need for collaboration between families and schools,
maintaining clear boundaries

@8 Qgafleurar erevenasameri LUFTLHSS, &HWDUBISERSEGD LeTEHEEH&SGLD @ an_ulevmer
esglmplider Comalamuis GamnaEHmg.
Correct Answer:- Option-A

Question40:-According to regional adaptations which of the following is the primary
focus of the curriculum in pre-primary educational institutions

Grmhdl peucsaiieniy., wpamaw el Bineuamigeaier LTSS L Sdler (pHemenLo
seuanld Wemelmeuemeuhdled erg) ?

A:-A uniform syllabus for all regions to maintain standardisation
sTULRSSMmOL LTTfEs Seardgl rmhiuUnigErs@Gh o Srmer LTSSl L b

B:-A syllabus designed to align with the local environment and community
needs

D GBI @GP OHMID Fepss CHeneUSHEHL T 655ILIGLTS aulg eSS LI L UTL S L 1D
C:-A syllabus focused only on academic skills

seils dlmensaticy L (HGW Seued CFSFID LTSS L Lb
D:-A globally adapted syllabus without regional inputs

Sl 2 erafHser @demoed 2 sereliled rHHiLELSSILLL LTSS L Lb
Correct Answer:- Option-B

Question41:-How did the contributions of christian missionaries to Kerala's
education system significantly influence its socio-cultural transformation in the 19th
and 20th centuries ?

19 wpmib 20y1d BrHoraTHsatsr Carermailer soall (PpenmaHE SHPlevgeu Lilagerilget e
LIBIGETLILSET DS FAPEH-GOTFFTT LOTHDSHENS CTEUTN) ST FONS LITSSHe ?

A:-By establishing schools and colleges to promote modern education, offering
science and English to all communities.

Beierm sevellenit 2ard@elléas LeTeflger whHmbd so@mflsmer Hlme|euseT (D, DemeTsg)
FAPSBISHEHSGLD Madlich HMID Y BISOEHMS CULPMKIGHEUSET PLPELD

B:-By maintaining educational systems to preserve caste divisions and
reinforce hierarchies.



srdll 19flejsamer) LTg&ET&ESa|D, Lighlaasamer euliL(h$se|b el (panmaamerTL]
LUpTLFILLUSET epeuLD

C:-By focusing only on religious teachings, neglecting the inclusion of modern
scientific methods.

&& OSSN L HCL Feuard CFgiFgiaisear fpeLD, Helar idlellwued penmasamens
Carliuens LmésanflliLger ppeoLd

D:-By limiting educational opportunities to Christian groups, excluding other
social communities.

9D Feps Fepsmigmers $eTEg, HMlevsel G (H&sEHdaE He06dl eUTILIL|SemarT
L (HUL(HSSIEUSET LLPEOLD
Correct Answer:- Option-A
Question42:-What do you think is the main duty of an early childhood professional ?
<Y TOLIETOD GHangliLihel Fluarflen sl sl erean eremm Bhiser Hlanansdhaer ?
A:-Ensure children memorise academic content.
GLBMSSHET Sl 2 6TaTL_&&Hens e iurLib dsleiams 2 mdl CFlige
B:-Solely interact with children without involving families or communities.
G&HDUBIEZET LG FoPSHmIGeneT FHLHSSTOO GLPhangs@hL e L (HGw G miL
Q& meT(enRg 60
C:-Maintain strict discipline without flexibility in teaching methods.
sHL9ss0 (Wpevmsafler Cbdlpea|ssemantd @D &hHenWTen ¢(p&ssamsL I CLams®
D:-Support children's holistic development, including physical, emotional,
social and cognitive aspect.
GLbengseter (ppenWTar eueTiFSHamul ASFSSH0, QD 2 L, 2 ari&s, Feps wHmILD
SIMGUTHDHED S DIFBIGET L_TBIGLD
Correct Answer:- Option-D

Question43:-Which statements align with John Dewey's philosophy on the
relationship between education and democracy ?

1. Education is a tool for fostering democratic values like equality and freedom.
2. Education should prepare individuals to participate actively in democratic
processes.

3. Education emphasises standardised testing to ensure societal equality.

4. Education discourages authoritarian governance by promoting critical thinking.

&06e&@GLD QATBTLSSIHNEGD G ulorar 2 mey &HES e 4 uLuler 555161556 6THS
SNGmsseT o5 ICLTE eTmen ?

1. sggieud wHMD &FSHSTD CLTETD METBTLS SILILISEET cUETTLILISDSTET 6 &(Hed
sevell.



2. gapmws Qeudapapsaid Salwrs ukCasns soell saflpuismer sLTTUNSS
Gouemt(hLbd.

35005 sEFUE®S o Ml CsieisHsTs a6l SIILESSILLL Cansmaam
Sl YDISS DS

4. eflwisgar Sbgmarean cag@edllLgen epeld Se6ll FFeurdlsmy Hlieurssams

sar&&LLMHSSHS D).

A:-1,2 and 4
1,2 wpmib 4
B:-1 and 3
1 wpmo 3
C:-2and 4
2 wpmib 4
D:-1,3 and 4
1,3 wpmib 4
Correct Answer:- Option-A

Question44:-How does Developmentally Appropriate Practice (DAP) contribute to
societal progress in preschool education ?

uref seedludled seps (peGearHmssn @ euaTi&dlsa, ermm el penm (DAP) ereueumm)
WAL HEL:)E: ]

A:-By prioritising standardised testing for measuring early childhood success.
QYTOUSTR GLpHensll Lihet teupmlenw ereill(heugnarear Sruu(hissiul L Carsamearss,
T flentd erfllILISET eLpeLD.

B:-By fostering the holistic development of children, including social and
emotional skills.

FpG HMILD 2 ETIFHS SMenseT 2 L LIL GLPHmSS6T e (LP(LPEnLOWTET eUeTFFS enul
GUEITITLILISEIT PLPEULD
C:-By focusing solely on academic achievements in early years.
97U yar(hseafled seall srsamarsafled I HCW seuard Claa)issieis e LpeLDd
D:-By limiting learning experiences to structured environments.
SMHHE SHEILIGURIGENET &L &SSILIL L GGLISHE DL (HLL(HSZI6USET (P6LD
Correct Answer:- Option-B

Question45:-The main difference between the educational philosophies of
Montessori and Piaget regarding child development and learning is



GWhang cueTFs LHMID sHme CgrLurer wragGamfl wHmib DTt i 6T saells
&5 5|6UBISEHESE Qen_ulemear (psslu Ceumuim(

A:-Montessori - Emphasises sensory experiences
Piaget - Emphasises cognitive development.

Lomevriq Gl - Ljevetn eniLieumISmeT el nSSISng).
Qe - oydlaumbmed eueTiFslenw euadlumssiSmg.

B:-Montessori - Promotes symbolic thinking
Piaget - Promotes group learning through social interaction.

ety Camfl - GO Sbsmenenw 2aéEelss ng).
wmQgL - seps CSTLTLSET eLpeld @ (L FTTEnL 261 @6l &S mg).

C:-Montessori -Emphaises teacher-directed learning methods.
Piaget - Emphasises cognitive development through independent learning.

revriq Camfl - AR MBS SHME (PenSHmeT eSS ng.
@l - swrSer sHHe epeod MHleurdned eueti&flan euadlynisgiSng.

D:-Montessori - Emphasises structured learning environment
Piaget - Emphasises natural learning.

el CHmfl - UL epssLLl L SHMed GHLPena euadlwmssislng).
NwrQl - @uinans sHnae UL nSSHIEng.
Correct Answer:- Option-A

Question46:-Which of the following is an essential skill for early childhood educators
?

Yemeu(meuameuDdleh 6TE TDLSTER GLPHEnSLI Li(hed SO6NWTeTTSEhs @, Sjeudlwinmen
Smenwo ?

A:-Technical knowledge
CsmplémLl L oy

B:-Observation skills
seualiL Slmerser

C:-Solely focusing on curriculum
umLg L g8le bl (HCW sHeuebd GlFasHsise
D:-Strict adherence to pre-determined teaching
wererGy Sioraissiiul L sHissme seariqiuns Sl 9 LiLig)
Correct Answer:- Option-B

Question47:-Why is cultural competence important for early childhood educators ?



STDUSTR GLPHensLI Li(hed SOeNTeTTEHE SQTEFSFTTS Smeim e (p&H&lwrerg) ?
A:-It helps them create a standarised approach

@5l @@ STULHSSILL L eGP DEL 2 (HeUTES AeUTSHEHSSE, 256 Sngl
B:-It ensures respect for children's diverse background

@5 Gsmssaflern Lapss serand CaTearL Weararanllaa wilwureasamw 2 mg Celdng
C:-It eliminates collaboration with families

@g GO buBsEsLamear esgimplianu BEGHna
D:-It enhances academic success without considering social factors

@\g Feps strallaamens smedled Gamarermod el Geupdlanw CuobLpBSgsIE DG
Correct Answer:- Option-B

Question48:-Which of the following factors are essential in the organization of pre-
primary educational institutions ?

1. Trained teachers with expertise in early childhood education.

2. Safe and stimulating environments for children.

3. Focus solely on academic achievement.

4. Provision of age-appropriate learning materials.

wpaewi Ueatefl seall Himeuamhsatien ojenwiide Gemeumd sryamilsatich 6Tg ojeudlwbd
?

1. gubmsl Lmeus soedlufled BlLamrggieund Gunm LuilHd Qupn <Ffwrser.
2. GLHMSHERSEGL LUMGISTLILTET HDID 2a&E0alSE0 @ POEET.
3. sedl sTgamansaiic L (HCW SHeued ClFQISHISH6D.
4. uwgIHEE oD SHME CUMHLEMET GULPMIGS6
A:-1,2,3and 4
1,2, 3 womw 4
B:-1,2 and 3
1,2 womid 3
C:-1,2 and 4
1,2, bomio 4
D:-1,3 and 4
1, 3 wpmib 4
Correct Answer:- Option-C

Question49:-Assertion (A) : Government agencies like ICDS and Anganwadis play a
significant role in pre-primary education in India.

Reason (R) : They ensure nutritional health, and educational support for young
children and their families.

ganm (A): @bdlwuralied wipeneowy soafluded &3.8.1q.6rev.(ICDS) HMID iBIS6TEMg ST



Cumem irs Blmeuarhiger @GOG 558585 Lkians cudl&sslemmaer.
smrenrd (R): jemeu oar’ | §555 H,CImESLUSmSUD, 6T GLOHENSSET LHMID
SeUfSHeTg &HDUBISERSE Heveldl Yy sTaneul|bd 2 midl CFlidlemmer.
A:-Both A and R are true, and R is the correct explanation of A
A wpmid R @rer(hib 2 areno, Cogid R eremuig A @ sflwimen efler&gswomELb.
B:-Both A and R are true, but R is not the correct explanation of A
A wpmid R @rer(hib o e, pemmed R eremLig) A @ler Fflimen eller&EsHn606
C:-A'is true, but R is false
A craiLig) 2 arenid, ,emed R erenig) saim)
D:-Ais false, but R is true
A crarLig) seumi, emed R ereniig) 2 erento
Correct Answer:- Option-A

Question50:-How can inclusion be promoted in early childhood education by
addressing the diverse cultural and social backgrounds of children and their
families ?

GLBHENSHET LOHMILD HeUFHETG & HDUBIGETET LDTMILIL L SEQTEFTT LDHMILD FePs
Yemememtlenw HlouFss Claieuger ppaLD, Y FIDLISTE GBS Lheuds &eadludle
D GTETLSHHENG 6TeLeUTN| 26I&HGHNES (Lplg D ?

A:-By creating classroom activities that reflect and celebrate all children's
cultural identities

DG GLHMSSHETET FOTFFTT e WITeTBIGMmETLLD Fdluad&Emn whmib
Camar_mHIb euGLLED BL 6l SHEHHENET 2 (HEU TS E6US6 (PGULD

B:-By standardising teaching methods to avoid cultural differences and
maintain educational neutrality

seorggny Coumurhsamers 5al7&Es6(b, Hoell BHBlamaamuwts LUrToflése b sHllSse
(PENDSEMET SFLILI(HSGEUSET LLPEOLD

C:-By encouraging children to adapt to dominant cultural norms to ensure
uniform behaviour and learning

e pLSng LHOID sHHme 2 Mid QFleusHsTs U HsEs sordany el pennsEnsa
THU GLRHENSHNET 268 @HeMLILISE ePGULD

D:-By limiting diverse discussions to reduce misunderstandings and prevent
potential conflicts

SeUDIEr LFsdsmears @Ganase b, Frsdwwnmear Conmsdsmears &hdse b LeGeumn)
cleungmigeneT sL_(HLILI(HSSIEUSET ePGULD

Correct Answer:- Option-A



Question51:-Educators can effectively uphold the principles of the UN Convention
on the Rights of the Child (UNCRC) to ensure children's holistic development and
participation in their education.

GLbengsatier (ppenwner elerTiEflanws 2 Ml dFiieugsnEd Seufsafler Heailudle
uBICsHLUFSHEW &.pr.eler padw 2 flenwser wrpmiqer (UNCRC) Qarearanssaner
sevellwmeriser SimbuL BlaneBlmss eriiLlg (Lpig L.

A:-By actively involving children in decision-making processes that effect their
learning and well-being, respecting their voices and opinions.

Sjeufsatien sHME OHMID Heraumpenalll LITEH&GEW wplgbleuhid@n dFwadpammsafle
Ghossmar Seilpons FHUDSSICUSET (LPeLD, SHefsallen GraEeT whHmID &(HSFIsHamer
SILILIGET LLPGOLD

B:-By strictly guiding children to follow rules without considering their
individual perferences or perspectives.

Sjaufsaflen geflliul L eflmUUBISmeTCWT Djebevg HeTCaurml L BisamerCwim &mdde

Qamerarmoe efldlsamaril GeTUDHD GLHBENSSMET STy LILITES UL SSHIeUS6 FPEOLD

C:-By minimising children's participation to maintain uniformity and discipline
in the classroom environment.

UGLUL®D GLP6dleh ETman Semenld LHMID ¢(PESESMSLI LTRSS GLHenssart 6
URIGCEHMUS GHmDLILISET PLPEOLD

D:-By limiting children's independence and emphasizing complete reliance on
educators for learning decisions.
@phogsaian sspdlrsmg LU HULESSIISET WPOPD, FHDED (P4 eI EHES
sevellwmerisemer (p(penowlms BLAd@mLLmS euadlymissieugen ppeuLD

Correct Answer:- Option-A
Question52:-The key strategy used to modernise Kerala's education system was
Cayermellen Hevedl (pepmen Heierr WSS UwaTURSSIUL L P& 2 G

A:-Restricting access to modern education to urban centres, leaving rural
areas dependent on traditional methods

Beiern 6l Tar Samsme BaTUILD WBISEHEE LLHLUUOSSIS®, SFmoliLphisemar
urgpbUflw (Wpennsamerd FTibHg 6 (Hge

B:-Preserving the caste-based exclusivity of education while introducing
modern subjects like mathematics and science.

sanflgd wHmD Sdlellud Cumrer E@ﬁm urLmisener AMpsLLBSSHD HCsH Couameruile,
amdl sjglineLuleoner soalluler WArsHCLsSmSLI LITEISTSSH0

C:-Establishing an inclusive education system that provided equal
opportunities for all communities and emphasized secular and scientific learning.



DADASG| FUPSHBIGEHEGLD FIO GUTULILILISEET QULPMRIGLD LOHMID DSFSFTTLDHM ODHMILD
SiMleflwe sHmene euallmSSHILD 2 6TeTL_&&Hw Hevell (penmenw Hlmie|se

D:-Focusing exclusively on religious instruction, neglecting the integration of
science and secular subjects

g Curganemuile L HCW seuad Cegiggigeo, Ml wHmLD WSEFETTLDHD
LML g6t e ep(hidlenenTlienLl Ljmasemnflsse
Correct Answer:- Option-C

Question53:-Match the following Indian philosophers with their contributions to
education.

List A (Philosophers)

1. Mahatma Gandhi

2. Rabindranath Tagore

3. Swami Vivekananda

4. Jiddu Krishnamurti

List B (Contributions)

a) Promoted education as a tool for self-reliance and moral development.

b) Advocated creativity and nature-based learning with global awareness.

c) Emphasised holistic education encompassing physical, mental and spiritual
growth.

d) Encouraged free thinking and experiential learning for life.

YemeumLd @bSlL sSgi6uEETafllEmer SHells@ jeurgHetlen Limiget L& enL6m
QUIBSSaD.

Ll g6 A (s&siau@sTafls6)

1. warsor srhdl

2. elipEBTS Sron

3. seuml elGeusTebs T

4. Qg Hpegemapis)

L g B (Lbisafl i sar)

a) &waniy LHNID STILE eueTfFSGaTar e(h HHelLITE Seelleanil 2ord@elldse
b) 2 aserraliu eNPILETTa_6T LeLLILTHD WHmb EWHes sTibs SHnaa
251558

C) 2 L eb, L& HMID eSS cueTFFfleni 2 6TerL &Sl (p(penLowme &oellenw
auadlymSEug).

d) aumpsengsaner &FHIH T SbHemen HMID LIS SHDMQ 268G NS5

A:-1-c, 2-d 3-b, 4-a



B:-1-b, 2-a, 3-d, 4-c
C:-1-d, 2-c, 3-a, 4-b
D:-1-a, 2-b, 3-c, 4-d
Correct Answer:- Option-D

Question54:-What characteristic of preschool children makes play an essential part
of their education ?

LM GLpBHengsater eThgL LiewT| jeufsaier allanemwim_(h saoefludler @emmluienowns
uGHurs sewsng ?
A:-The natural ability to sit and focus for long periods
Bt Cryb o L smibg seuand Ceqsgib @uhaswirer Sner
B:-Learn best through observation and activities
seueflliL wHmibd CFweUT(HS6T epeold FmUILITES &Hmido6lsTeT(@nge
C:-Function only by following direct instructions
Criry auflpenmaemertl Gemupmieuser epeld L (HGW GFweLhigen
D:-Cognitive development occurs primarily through structured lessons
SDUTHME UETTFS (LPSHEMENLOUITE HL L nd&SLILIL L LITLBISET fpeuLld Hlaspslms)
Correct Answer:- Option-B

Question55:-Which of the following are key features of an effective preschool
classroom ?

1. Separate learning corners for specific activities.

2. Strict discipline to limit movement.

3. Child-friendly furniture and colourful decor.

4. Limited teacher interaction during children's activities.

YevreumeueteLmmdled ereneu e(h LiLgyeTar Limen Latefl cu@lieppmuiler (psdli Sbamiser ?
1. @Oludbl L QewdurhisEnss@ Salsseat SHME LPEGSET.
2. QuIEESMS S_(HLULMHSS SHEPDWTET 6(LPSSLD.
3. BLPHNSEEHEE, DD SETEUTL_RIGET LOHMILD GUEHTEITLOUILDTE < 6OMhISHTITLD.
4. Gipamgsater ewdurhseter Cumg euamrumssLIL L pSFluF CQgm L
A1, 2
B:-2, 3
C:-3,4
D:-1, 3
Correct Answer:- Option-D

Question56:-Assertion (A) : Play-based learning is critical for preschool children.
Reason (R) : It helps children develop motor skills, social interaction and creativity
through engaging activities.

gamm (A) : ellenerwm_(h @iqliuenulenrer sHmE paew | LieaTall GLOHamEsehaE



&6y (WpSEWLDTETE.
sryenrd (R) @ rhHUT_(HLem salgw GFwdurhiser pald @Gwhangser Com Ly Snearser,

Fepd QT LHMID UL LILITHDENE aleTIES @5 2 56|Slmg.

A:-Ais true, but R is false

A 2 _areno, perme R seum
B:-A is false, but R is true

A souml, emmed R 2 erenio
C:-Both A and R are true, and R is the correct explanation of A

A bpmib R @rar(hib o ereno, Cogyd R erarug) A @ sfluner eflerésid
D:-Both A and R are true, but R is not the correct explanation of A

A bpmid R @par(hibd 2 arenid, %ameR eremug A @6 sflwner cllemdsid jeven
Correct Answer:- Option-C

Question57:-Match the preschool classroom features with their purposes.
List A (Classroom Features)

1. Learning Corners

2. Child-Friendly Furniture

3. Storytelling Sessions

4. Group Activities

List B (Purposes)

a. Encourages language development and imagination
b. Enhances cooperation and teamwork among children
c. Provides a safe and comfortable learning environment
d. Offers specific spaces for varied activities

LM U@L D HDEFRISmET Seupbdlen CrrésssgiLem OlLIMHSSHa L.

L g6 A (eU@LILIGD ALbariisaT)

1. smmev epencvger

2. GRH®SEEHEES TDD SeTeUTL RIS

3. 505 GOILIL SILDF6|SFeT

4. &g QsweLr@se

Ul iguwié B (Cprésmiser)

a. Q) eueTy&s wHMLD SHLIMETEW 2ard&@HesS ng).

b. gubamssailen_Cu esgiempliL) womib @priuatamw Cuobuhssidng.

C. LIMGISTILTGT IDHMID QUSSLITET SHDED @GP QUGS DS

d. ueGeum GewduUT(HSEREE GO L QL BISMET cULPBIGHS DS
A:-1-c, 2-d, 3-b, 4-a
B:-1-d, 2-c, 3-a, 4-b



C:-1-b, 2-a, 3-d, 4-c
D:-1-a, 2-b, 3-c, 4-d
Correct Answer:- Option-B

Question58:- was the main limitation of ancient perspectives on education in
India.

@ndwureile soell @GhSs LaTenL i SarCanml_Lmiseaflen (p&HHlw eurbUTs

Qe

A:-Equal access to education for all communities
DG FAPSHBIGEHSHGLD HEO6NHEG FLOLDTET EWIHED

B:-Caste-based exclusivity and limited privilege
amdl SjgliteLuleoner seaflggelbd wHmD euamFUNIGSILL L FQIens

C:-Prioritised technical and scientific advancements in education
sevafludler smflemL L wHmib Sdlefwe perCarhmmisEreE (eraflano
Seflsslul L g,

D:-Secular and democratic education for all
SDMEEUHSGLD SFFTTUHM HMILD MBI S

Correct Answer:- Option-B
Question59:-Which of the following defines health as 'Health is a state of complete
physical, mental and social well-being and not merely the absence of disease or
infirmity" ?
Getreu(Heuareupiled eTgl < Crmasdlugens ' L dpeld ererug Chml e Lieeied
@Gi)eurrg,gj OL_(HLDGLG; OTMITE L6, DG OHMID FLPS ‘mebmn@@ﬂaiﬂ (L (L@ LD ﬁ]mw'
GTEIM) U TLIMISE DS ?

A:-AMA

B:-CDC

C:-Biomedical definition

LCWMGEILIG S50 WD

D:-None of the above
CuopamMueupdlé ergia|uleena

Correct Answer:- Option-D

Question60:-Factors adversely affecting physical health are
l. Violence against women.

Il. Lack of hygiene

lll. Unhealthy habits

IV. Improper nutrition

V. Family conflicts

2 Lo BCrradlwusens Crgons LUnSlé@Ld smyewtlger



|. QU ER&E eTElrmen auemLpenD

Il. ssrsrrdlenento

1. < Crra&dlwnmm LILpSSeILpESBISeT
V. ppenmuwimm oerl” L &858

V. Hbu Corgeoger

AL L L IV &V
LA, LIV &V

B:-Only II, 11l & IV
I, 1, & IV b (Hw

C:-Only I, lll, IV &V
L 1L IV &V ol (Ho

D:-Only I, Il & V
, 11 & V or_@ib

Correct Answer:- Option-B

Question61:-Which of the following reasons result the complications such as
Abortion, lack of adequate breast milk, birth defect, Injury to the babies internal
organs

sm&saeLiL, Gurgmer FmiriumD @eememo, UpLiL Gepur®), GLhaguder o 6T
o MILIL&EH&E ST Curern f&ss6r Yearemb sryahisefle) ergearme erhuL L .
A:-Consanguineous marriage
8rés 2-pay Spoed
B:-Marriage at the age of 18
18 auwdlev Fl(mLoemwTid
C:-Limited interval between pregnancies
SH55(H5S SHTLLLISEHESE QL ullerear Gmnbs @ _Gleaf

D:-Conception before the age of 21
21 awdlnE perr SHSSHSSD
Correct Answer:- Option-D

Question62:-Which of the following statements about protein are correct ?
l. Proteins contain carbon, hydrogen and oxygen

ll. Serum albumin is a protein

lll. Proteins are organic compounds of nitrogen

IV. Proteins are good for efficient absorption of calcium

Hrsd updlw Gereumbd spmiseie erg Fflwimeng ?



l. yrsmigafled smiL6m, emam_Faem HMmID ,&edlemer 2 cTere.
1. &b L6 6p( LT

. yrsmiger enplraeaier &l CHromiser.

V. smevdflwid Fpwul o PlepsliLihieusn@ LTSBISET Heag).

AL L&V
LA & IV

B:-Only I, Il &1l
L, 11 & Il (b

C:-Only 11 & 1l
I & I ol (Hid

D:-Only | & IV
| & IV ol (b

Correct Answer:- Option-C
Question63:-What is cretinism ?
iy eflgbd eremmmed crevmen ?
A:-Disease caused by calcium deficiency in food
o amredled ErSlwb GepliurLre egpHuiid Crmil
B:-The disease that occurs in a newborn due to the lack of iodine in the diet of
the pregnant mother
sl gmuder o amreiley HGWmger Qemssmed LSsmsl 9nHs GLHmSEE Fhu(HLb
Crmul
C:-Kidney dysfunction due to dehydration in the body
o Lol Bi&asg @epur® sryenrons Snibre Cewedlpliyy
D:-Fragile bone condition seen in Adults
Quilwelfsetler HreRTlILI(HLD 2 enL_W&dalgl eTe)LDL| Flened
Correct Answer:- Option-B
Question64:-Table given below represents a balanced diet for pre-school children

&G Car®&ssliul(HeTer L Leuament LT LdTel GEnss@hésTs Fndsf o amamold

GN&E g

4 NV Vv NV
Foodstufls @ @ @ | @

A:-It represents high cost balanced diet
8g 2ds Cewajerer FFs] 2 areneud @GN&ESH D)



B:-It represents low cost balanced diet

88 GoDHS DFwadrer FFET o arenals &HEE D)
C:-It represents moderate cost balanced diet

@ g Wgrer Qe dmer FEET 2 arancus GDIGH DG
D:-It represents very low cost balanced diet

@& WEsE Gapbhs CFma|arer FLFET 2 araneuds GDSSH DS
Correct Answer:- Option-B

Question65:-In which situation should the following first aid steps be taken ?
I. Allow some time for the bleeding to stop on its own.

Il. Cover the wound with a clean cloth.

lll. Wash the wound with mild soap and water.

THS GpHlenaudled 1Gemalmd (PSS BLoulg&asser eT(hHsULL. CeuemT(hibd ?
l. @rs506LTsEE sramsGeu Hlammeil filg Crrb 2iamindlEsealb.
Il. smugeng &GsLomen gewflime epL_e|L.
ll. Govgrar Camiiy Hmibd Serartiflé) STLSMHSE SH(LpeuaLb.
A:-Bitten by insects
LFH ST &9 555
B:-Bitten by snake
UMDY 54558
C:-Bitten by dog
Bl &l4.558)
D:-There is a wound
6(1h STWILD 2 _CTeTg)
Correct Answer:- Option-C

Question66:-A government scheme that ensures girls education and future financial
security

Quenr el wHMID eTdlfsme Bl ungismiamu 2 midl el e s S b
A:-Integrated child protection scheme (ICPS)

RHESmaTHS GLpHansseT UngsmiLs S b (ICPS)
B:-Sukanya Samrudhi Yojana (SSY)

saemur Fflg Cuirgert (SSY)

C:-Betti Bachavo Betti Padavo

Guig u&srCeur Gluig LLTGeurm

D:-None of the above



Cuonaadlweunmle ergia|dleene
Correct Answer:- Option-B

Question67:-Which of the following is an integrated health management
programme that has a collaborative approach to improve the health of people,
animal and environment ?

1Gemeu(meuameum ey 6Tl Lo&&ET, 6llemI@GSET OHMID &HMIF@S Wl HCITESLSms
Cbu(Sg1eusHETET Sal (H A GPODWES ST (HEIS MBS HETHTT
Cuerenrenng HlLL b
A:-Public health bill
Cumg ssnsmy WEEFTST
B:-One health programme
Q(F HHTHTT SIL LD
C:-Tele medicine system
Cgmeney WHSGIel SenDLIL]
D:-None of the above
Cuongadweunmler ergia|dlerene
Correct Answer:- Option-B

Question68:-Bordetella Pertussis is the causative agent for which of the following
disease ?

CumplLGLever Gui®hiFlev Gemeumd eThg CHTUISE STFeuTLOT6 STFEwWT@GHD ?
A:-Mumps
QuTeten& @, aimid
B:-Chicken pox
H&Es6T LITS6
C:-Whooping Cough
S&HGHEUITE @)(HLOG
D:-Diphtheria
g iGflw
Correct Answer:- Option-C
Question69:-The figure given below is an example of
&G Car@&sliul(Herer UL LD QSH@E @ THSSISHTL(H

P S, %
1 . ——

A:-Law of similarity



@hpien 6flg)

B:-Law of closure
epLcd aflgl

C:-Law of simplicity
crafleno clg)

D:-Law of proximity
SI(HSTenLD 6l

Correct Answer:- Option-C

Question70:-You might have seen children feeding dolls, according to Piaget
conscious thought is a characteristic of which of the following developmental stage

Qwir@el g6 sadmiliLilg, GLH®MSSET QUMTDELOS@EHEE 2 amralailiLieans Bhiser
LUMFS S (H&seD. @& Mereumid 6rhg euerfdsl Bleneouden FmUiGuieory ?
A:-Sensory motor stage
Qeenafl CorLmy Hlene
B:-Pre operational stage
Ceweur_h&E, (phenswt Hlena
C:-Concrete operational stage
sreandlfl Qewour’ H Hlea
D:-Formal operational stage

panpwiner GEweur’(h Hlene

Correct Answer:- Option-B

Question71:-A student knows that the sum of eight 10 rupee notes is 80. But he
finds difficult to answer the question on how many 10 rupees are there in 80
rupees. The student has which of the following limitation ?

r_(h 10 epumi Curl(haafler gl (hg0smens 80 eramLens e Tl (HSES g Flub.
<armed 80 epumuiled erdgsenar 10 epLmiiser 2 dteren ererm Caemeild@ LigeaflliLig
DIU(HS G HqETLONE 2 _6GTeng) ?

A:-Conservation
SeMFTEoL A G

B:-Reversibility
FleugdlGlefl ig

C:-Reflective
Mo L1l eméHiq 6Ll

D:-Logical thinking



Oradl&EE6 Slbsener
Correct Answer:- Option-B

Question72:-In Allport's trait theory, Gandhiji's honestly falls under which of the
following traits ?

<eoCumiliger Lewr g Camum’igd, srhdlaluller Criam 1GemeumLd erbgL LicwLser e
& aupdpai ?

A:-Central traits
LWL LIGOTL|&6T

B:-Secondary traits
@\reTL_mD [Hleney LIGwTL e

C:-Cardinal traits
SITITIqEUT6L LI6O0TL| 6T

D:-External traits
Qeuafliym LieTL&6T

Correct Answer:- Option-C

Question73:-Who is the chairperson of Central Coordination Committee under the
Disabilities Act ?

@opurhser s gdlen (Disabilities Act) wsHluw emmiSlaeaiiLsg @peler Semaeur wimy
?

A:-Principal secretary of central education department
&S Hevells glewpuiler (pseenlnd GlEwemerTy
B:-Principal secretary of Central social welfare department
&S Feps Bes Glewmuilerm (pgeTenlod GlEFwemerTy
C:-Minister of Central social welfare department
LSS FLPS BOS FIENM HENLDEFT
D:-Minister of state social welfare department
OTHIQ Fps BOS FHENM eDDFE]T
Correct Answer:- Option-C
Question74:-Who formulated the given equation IQ = MA/CA x100 ?

Carsslul L goeureamL o (heursdlweury wry 1IQ = MA/CA x100 ?
A:-Spearman

e wrGLoe
B:-Therson

g e

C:-Howard Gardner



QDTEUTL &MTTL_6TIY
D:-Alfred Bene
Ao o N7 GlLIGer
Correct Answer:- Option-D

Question75:-Which component of a child's intelligence is concerned with reading
and analyzing maps, charts and diagrams ?

QR GLhensudlen miewanrdlelen THESE Fam eUETLILBISET, deT&sLILIL BISET DHMILD
2 arellwed euanyLIL BIgeeTL! LilgiLidled L@liumie] Gelieudlaib Sissemm
Csrer(hererg) ?
A:-Linguistic Intelligence
GmPuilwe micTemTdle]
B:-Logical and mathematical Intelligence
ST&SFHWmen wHMID sewils FearTenTdloy
C:-Spatial Intelligence
BLepemiHs niamen blel
D:-Existential Intelligence
Qossdlue pamerblel
Correct Answer:- Option-C

Question76:-People who don't have children love pets too much. Which adjustment
technique is used here ?

GLBENSEHET @lrgeurser goalilrrangmer SiSlswrs allmbySnTiseT - QkiE Ths
sfCFwige L LD LwerUhissLUHE DS

A:-Compensation
INEERIC

B:-Identification

SIML_ITETLD &ITEHT6D

C:-Displacement
@LUuCuwiss

D:-Repression
ALESUPDD

Correct Answer:- Option-C

Question77:-Laws protecting Woman are
l. Article 15(3)

Il. Article 51(a)

lll. Article 14

IV. Article 39(e) and (f)



V. Article 24

CUETENEmTLI LITGISTH@GLD FLL BISET
l. <7l 1gs6T 15(3)

Il. <p7ligs6er 51(a)

. <y7li1gger 14

IV. @i gser 39(e) and (f)

V. @il igser 24

A:-L 0L N IV and V
B:-1, 11, 1

C:-1, I, IV

D:-lll, IV and V

Correct Answer:- Option-C

Question78:-"Personality is that which permits a prediction of what a Person will do
in a given situation" is defined by

' EHENLD ETELIGI (1 BUT 6 GG Gpblenaudled ereer CFweamy eramliend SHemtlss
S ILGTGHD' eTemm @eUrmed cuanFLmIGSSILLL &) ?
A:-A. Allport
A. oGuml
B:-R. S. Woodsworth
R. S. ajlevCleurs
C:-R. B. Cattel
R. B. Gal_Led
D:-Dashiel
CLadlwed
Correct Answer:- Option-C

Question79:-What is the correct definition of ‘Gram Sabha' as per the Indian
Constitution ?

@B rHweebien Lig 'SFmo sanLl’ eTaTUSET FFILITET QUMD cTeTeT ?
A:-A body consisting of all the members of a Gram Panchayat
@ ST LEhETWSSen Daneansg 2 niidarisameribd ClETam em fenoLiL|
B:-A body formed by the village head to discuss developmental issues
cuemi&SlLs psslenanseners LpMl efleundlas Srmog sameaeurmed 2 (HeurssLliLL L (b

S|MLOLIL



C:-A body consisting of all persons registered in the electoral rolls of a village
within a Panchayat area

Q(H LIEHFTLSH LG SEET 2 6Ter ¢(1h Srmnsdlern eumssmery UL iqLiadle
udleyCewwiul L eardgl BUFSMmeTD Cl&TarL 6 (h el
D:-A body consisting of all the permanent residents of a village
Q@@ Srmbsdler Smarsg HITbsT G4 ullUureTisameTu]d CETeTL ¢ <{enLoLL
Correct Answer:- Option-C

Question80:-Consider the following statements regarding the Panchayati Raj
System in India and identify the correct ones.

i. The Panchayati Raj System was constitutionalized through the 73rd Amendment
Act.

ii. The tenure of a Panchayat is five years, unless dissolved earlier.

iii. Panchayati Raj institutions function as per Part Xl of the Indian Constitution.

@nHwreledr LEhFTwSg Ty enoliL] GgmLFLrer Yeameupd HEmEEMeTs &([HSS6
QameanT(h FHlUTETEIHED HELITETLD HTERI6LD.

i, LEpFTWISF TIs) DenoliL] 73 eugl Sl(HEsF FLSEl6T epald TSI E
FLLOTESILLL g

i, pemensraGol HamadasILLTedlLl L6 e LEpdTsSlen Ligelssmed mbgl 46 (haer
iii. LepsmwSg Ty Bimeiambser @bl Fflueoewliber LGS X @eir Lig
Qeweu@FHermer.

A:-Only (i)
i w_(hb

B:-Only (i and ii)
i, ii L(HDd

C:-Only (i and iii)
i, iii LD

D:-All the above

CuGe 2_6TeT SenarsgID

Correct Answer:- Option-B

Question81:-Consider the following statements with regard to State Election
Commission

i. Article 243 K provides for the establishment of a State Election Commission.

ii. State Election Commissioner is appointed by the President of India.

iii. The superintendence, direction and control of elections to the Panchayats shall
be vested in the state Election Commission.

Which of the statements given above is/are correct ?

wrble CaIs60 ,enamuld GETLFuTeT Y6mel B <iHEenSSMmaTs &eu 6 LBISET.



i. Wfley 243 K brble Caise enanmu Hlimielane aulpni@GSng).
ii. brle Carsa emamuy @bdlw serrdluduimed HlubssiumhEnmy.
iii. LERFTWSGITEHESTa CHTHme CPUTTenel CFLISM, aULIBL SIS0 HMID
s_(HUU(OSgIS0 Ydweneu wrble CHTge ymeanTiSSL b @) (HEEL0
Cwlo darhsslul(herer ganmiseie ereneu Fflunmarene ?

A:-Only (i)
i L (h

B:-Only (i and ii)
i, ii (LD

C:-Only (i and iii)
i, il LD

D:-All the above
CuGe 2_6TeT enarsgIb

Correct Answer:- Option-C

Question82:-Which among the following committee was appointed by government

of India in 1977 to recommend for improving efficiency of Panchayati Raj institution
?

L@h&mwSS ey Blmieuensslen Cswddpener CobLBhiss 1977 @ @bl FFTmIsESSTE
Bluslssiul L ufiBgianT @ o8l ?

A:-Balwantrai Mehta Committee
LabSITL CSST &P

B:-Sarkaria commission
FTSSTHWT SO Q60T

C:-G. V. K. Rao Committee
G. V. K. greu @1

D:-Ashok Mehta Committee
9Gars CssT @1

Correct Answer:- Option-D

Question83:-Which one of the following subjects has not been devolved to the
Panchayati Raj Institutions under the 11th Schedule of the Constitution of India ?

@Qpdw Sipflweanolifer 11 augl @i L cuenantuflen SLp LIEHETLISH [Ty
BlmeuambsErs@L LdihsellEsliuLTs gennser erg ?

A:-Higher Education
o W &6l



B:-Women and child development
QuenTgeT HMLD Ghangser Gobum(
C:-Non-conventional energy sources
FLETIT eTHlF&ES 4STIhIGET
D:-Implementation of land reforms
Hlo ETHmEsnisamen QFwbUBHSSIS®
Correct Answer:- Option-A

Question84:-Which of the following statements regarding the State Finance
Commission is correct ?

wrile Hlgl <emeamud Qgrjurer Yereumbd <Héamasafle ergl sflumeng ?
A:-It is constituted by the Union Government every five years
@8l eelbleur(m Bbg eUHLBISGERSEGD LSS HTFTD DHeESILHSIDS)

B:-It recommends the measures needed to improve the financial position of
the Panchayats

LEpsTwSgIsater HlE Blanerenws CobUBSS CHeameuuITer BL 6l SnSHEHmeT Qg
LUfBgIersS s

C:-Consolidated fund of the state shall be placed at the disposal of the state
finance commission

rlegdlen emridlamanhs rble Blé o amamrugdler ausd enelssLliL(Hb
D:-All the above

CuGe 2_6TeT DenarsgID

Correct Answer:- Option-B

Question85:-Consider the following statements regarding the structure of
Panchayats

i. Every state shall establish Panchayats at the village, intermediate and district
levels.

ii. States with a population of 20 lakhs or less may not have intermediate-level
Panchayats.

iii. Gram Sabha, Block Samiti, Zilla Parishd are three-tier structure of Panchayats.
Which of the statements given above is/are correct ?

LEh&mwUSgIsam e el CgrLruner lemalHn iNEmSsmeTs &eu6|niseT.
i. eeuGleum(m wrbleopd Hmobd, Gent_Hlene WOHMID I L WL L Eigertle
LEpsTwSgIsamer Hlimel Ceuer(hib.

ii. 20 ol_&lb LG ASNEGD GEMEUNET &&ET CgTens ClgmearrL mbloniserte
@lanL_Blener emeilemen LIEhFTIISEHISHET @)eOETOE @)(THEHSHEILD

iii. Slgmwo geou, s01S Cam@d, over Liflagd D dlwmer LigrsTLSFIHafl6 epemm 1(H&SE



S|MLOLIL
CuCe GarhssliLi’ (herer sidsmasafler erg Ffl/sflwmeng) ?

A:-Only (i)

i w_(hb

B:-Only (i and ii)
i, ii (b
C:-Only (i and iii)
i, iii (D
D:-All the above
CuGe 2 6TeT DenarsgID
Correct Answer:- Option-B

Question86:-Which of the following statements regarding the powers, authority and
responsibilities of Panchayats is correct ?

i. The preparation of plans for economic development and social justice.

ii. Panchayats have no power to levy taxes.

iii. The powers and responsibilities of Panchayats are determined by the State
Finance Commission.

LI@hEFTILSSHI 6T 6 S ETIBIGET, Y TFD HMILD Gurmiliser CgmLijumen [ememLd
gapmisatcy org FFlwumeg) ?

i. Qumerrgry Cuobur®h wHmib Feps SdHésrear S Lkismers SwMilse

i, LERETLISSISEREE Ul alldlEs ST G)dena

iii. LepFTLISHISHaTen FlaTrmser LHMID CumrmiliLgeT wrble Bl < ameaTuSSTD
groreaflssliu®hderner

A:-Only (i)
i L (H

B:-Only (i and ii)
i, il L

C:-Only (i and iii)
i, iii (WD

D:-All the above

CoGev 2_6Ter energgLd

Correct Answer:- Option-A



Question87:-Who has the authority to make provisions for maintenance and audit of
Panchayat accounts ?

L@hEFMLSS| SeT&HGSarL ]l LUFmbilgse whmib samfldams Cslieusnsmear rhumhsamens

Cetiw wnme@ STy o eTerg) ?

A:-The Governor of the State
Lombler <, @hbIy

B:-State Finance Commission
rble Bl <, emenrwid

C:-Accountant General
SETESTET GlegETeh

D:-The Legislature of a State
(T LOMbled &L LDETMLD

Correct Answer:- Option-D

Question88:-Which Article of the Indian Constitution defines the duration of the
Panchayat ?

@S srHweewliber erbsll 9fley LEpFTWSS 6T HTE eTenel uTLINISES DG ?
A:-Article 243E
9fley 243E

B:-Article 243F
Aifley 243F

C:-Article 243G
Wfley 243G

D:-Article 243H
Yfley 243H

Correct Answer:- Option-A

Question89:-In January 2025, which Indian official encouraged women Panchayati
Raj Institution (PRI) representatives to adopt artificial intelligence and innovation for
people oriented governance ?

soaralfl 2025 @Qlev, CueraeT Liepemwsg rrsy Blmeuear (PRI) Wrdlfldlaener wéser smins
BraumssBpens Qsupms pemamlal LHDID> LgimEMET HHIEASTITAT sri@aiss
@pdwu siflsmfl wmy ?

A:-President Droupadi Murmu
gamdlugl delnamugl apiap



B:-Prime Minister Narendra Modi
Grsor pCrHSlr Gomg
C:-Lok Sabha Speaker Om Birla
D&SETENE FLIMBMWST 6Lb lfeom
D:-Minister of Panchayat Raj Rajiv Ranjan Singh
LI@HEFMISS| TTEY D{GLDEFF JTgO6U [EhFeT Sl
Correct Answer:- Option-C
Question90:-Which of the following best describes the scope of public health ?
Yemeumeuameummley ergl Clumg sasmrmsHen Crrsssamg ApliLins elleufladng ?
A:-Treatment of individual patients with chronic diseases
BreTUl L Crmlsermed undlaslinl L salliul L Crrumets@nsa@ fdlsams 2jaflssd
B:-Preventing diseases and promoting health at a population level
&&6T QT Djerelldr Crmisamens HESH wHMID CrmeESlwusams CoibL(hSgiHe
C:-Solely focusing on infectious disease outbreaks
Qgmhm Crmi LFebGuTg WL (HGWL SHeued ClFaSgH%He0
D:-Providing emergency medical care
S|eUFT (HSHI6U CFMEUEII CLPMIEHES6
Correct Answer:- Option-B

Question91:-The public health approach transitions from problem identification to
response. What is the significance of the "what works" ? phase in this process ?

QUG FETHTT AaGPerD UTFsamenenil SenLwimerd srarUdalmhg Ldeoafliugns
LrmEDg. Qbs Fweouriyd 'aarar Coume Geldlng)' ? sl L gdler (psHluiggialld
eTEuTeoT ¢

A:-It determines whether policy changes should be enforced without testing
interventions

Camgamanr samewi(Higer Qe mod Csmarans wrHnhigH @)HEs CouamT(HM eTaTLIMmS Qg
groraflsSng

B:-It evaluates the effectiveness of different interventions before large scale
implementation

Quilu Sereflemer GFuOLHGSNSGE (et LiGam samauihsaisr GFwuddpanear G)g
LGS

C:-It focuses solely on implementing already established solutions without
modification

ghasaGeu Hlmeuliul’ L Siesener wrHmLilem CFwdubhsgieude wl HGw @g seuebd
Uegss18lns



D:-It eliminates the need for further surveillance once an effective intervention
is identified
(I LwWaeTer sameoui( SienLwmerd srewtliLil’ L a6 Cogb searamenflLiken
Coamouanw Qg BsEHma

Correct Answer:- Option-B

Question92:-Which of the following best describes the difference between universal
and selective prevention strategies ?

2 gerredlw oM CH&IBOSHESIULL sHUL 2 558@H&dE Qe ulemer CoumLim enL
Yetreumeusmeupdled ergl Hpliuns afleufladmg ?

A:-Universal strategies target only high-risk individuals, while selective
strategies target entire populations

2 geTTelill 2 S8l56T AFls Y LSgieTer pLTsmeT L (HCW @GHlancusdlarner, Gs
Crrsdler CorbgshssIULL 2 SSEET (PP WEHSMETWD G hlenaddlerment

B:-Universal strategies are designed for entire populations without identifying
at risk individuals, whereas selective strategies focus on groups with known risk
factors

2 Q&HETTeN 2 S556T LIS 2 ETerT BLIFHENET {eL_ITETLD STEUTTLOE (LP(LH LOMHMILD
D&SHETESTNEEETS aUlgalabsslLL (hetarar, 9Gs Crrssle Casrbshissi L
2 GdlgeT OLLILL L. YLISFH STranTsmens CsmarL @ pdsate Houard olaaissid ermer

C:-Universal strategies focus only on youth with early symptoms, while
selective strategies aim at those with diagnosable disorders

2 osearmall 2 S&&seT <, ribu N GHsmens Carear @aarepisamer L (HG eWIbTESS
Qamer(hererar, HCH CrrsHler CoHIBOSHSSILL L 2 ST sanrPlwdEdniqw Camermmser
2 GTOTEUTEHENET QVEHTEHS ©l&TewT(h eTore

D:-Universal strategies and selective strategies both target individuals with
significant symptoms

2 ogerrelil 2 Sla6r HMId Carbhghssliul L o Sdls6r @rar(Hb @GOG 5555
SN G@Dsmens CETETL BLTEHET Q)v&H&ETEHS ©lsmenT(heTerer
Correct Answer:- Option-B

Question93:-Study of the distribution and determinants of health-related states
among specified populations and the application of that study to the control of
health problems

G&HMUELL wéser dgransseaian G &a&rgrrb Qgrfurer Blaesafler Lreue wHMILD
grorefliucursefler <yiie] LHND ssrsmrl WrFflmasmears s HULHSS DS
QpUienalls e (HSSISHD

A:-Epidemiology



QamHmGrTudwie
B:-Public Health
QUITg &SMSMTLD
C:-Pathogenesis
Crmusdl(mLl o (meurssid
D:-Primordial Prevention
QTDOUST S(HLIL]
Correct Answer:- Option-A
Question94:-Which of the following is an example of a positive health indicator ?
Yereumeusmeupdled 618l CHILEPDWITET &SMSTT GNSTL g Ul T(HSSHSSTL(H ?
A:-Infant morality rate
GYhHos Qi eilélsd
B:-Disease prevalence
Crmut LiFeue
C:-Life expectancy at birth
Yp&sEh Curg <Lu|lsmb
D:-Hospital admission rates
(MSGHIeULemaTUdn CareH@L elldlgnhiser
Correct Answer:- Option-C

Question95:-A government decides to integrate a successful maternal health
program into national policy, ensuring sustained funding and legal support. This is
an example of which type of scaling up ?

e Ceupmlsrorer srleud &srary S L sms Caflu Camaransulle emmislananTss
DATFTESD (Plyef tslslng), @5 Blaawner Bl LOML st sroa 2 pgl tslslng.
Bgl eps auswrar ailfloirsssEne @0 TGESSST 0 7

A:-Horizontal scaling up

HenLol L allifleurgsid

B:-Vertical scaling up
Cem@sg Nfleurssid

C:-Spontaneous scaling up
seaFengwimen ellfleumsaLd

D:-Diversification
LiebeUen&LILI (N &S0

Correct Answer:- Option-B



Question96:-Which of the following is a key objective of India's National Health
Mission (NHM) ?

Yeeumeuemeummled et @bdlwneler Csslw sarsry Qussssler (NHM) wpsdlw
Crréswm@Ld ?
A:-Providing universal health insurance to all citizens
DONEF| (G4 DESERHGD 2 seTTell &FSTHTT ST L ULPEIGHSE
B:-Enhancing equitable access to healthcare
&gyl ugroflibnarer sowrer Semisamed G (HGEg6H
C:-Establishing private healthcare systems across all states
Slamang g wrblonigeaflgb Seflurgy sSTSTT SenoliL|EemeT Hlmiese
D:-Focusing only on communicable disease eradication programs
Qasrom Crml elig Sl L gl wl HGw seueabd Fessis0
Correct Answer:- Option-B

Question97:-According to the National Health Policy, 2017, healthcare should be
oriented towards which type of approach ?

Coflw sangmys Csmerens 2017 @ei Lilg, &S Myl LFTLFLL 6Ths eUESW TET
@ Gpenew Crredlusts @ m&s Couam(Himn ?
A:-Curative and tertiary care
G@TLLHSSHID OMID ep&TmILD Hleney LFmbFlLiL
B:-Preventive and promotive healthcare
SHUL HMID 2ar&@EedlliL &ETemrl LFmofliy
C:-Private healthcare models
SENWMT &Sy rslflser
D:-Emergency care and first aid
Sleugr SldlFeng wHMID WPSIS6d
Correct Answer:- Option-B

Question98:-The National Health Mission initiated a 100 day campaign to eliminate
TB in the country under the umbrella programme

Coflw samamy QussD By sreCrraw elds 100 prer AT&sTrSams 6 (h @
Sl Lgdlen Ep Cam_rmidlwg,
A:-National TB control Programme
Crageared 1419 ser_Crmed LCrmdlymb
B:-TB Hatao, Banao TB Rahith Bharat
419 anl" L rCeum, uemGeur 1419 Fabls Lrys

C:-National TB Elimination Programme



Cragered 1419 crallCemager LGrmdlmbd
D:-National TB Eradication programme
Cragered 1419 erymg Cager LGrmdlymid
Correct Answer:- Option-C

Question99:-Consider the following statements related to Kerala Public Health Act
i. The Act was enacted in 2023.

ii. An approach of one-health for public healthcare has to be adopted.

iii. The social systems that provide health has to be strengthened and the
conditions that may cause disease has to be weakened or eliminated.

iv. It has replaced the Travancore Cochin Public Health Act. 1955 and the Madras
Public Health Act 1939.

Caper Gumg ssremrE UL b CgrLgurer Mearelmn Hémasamensd selaflumiger.
i. @b sLL1b 2023 @eb @uimpliul L g).
ii. &Il urmLRLLUSEE (F FSTHTTLD T @D FHmis6amerer Coue(HiLb.
li.&&MsMHMms aPBIGLD Fpsd AemLILSET euiLhgsLLL. Cauar(hib, Gogib
Crmisemer erhU(SSoHamiqw Hlevavenioseaner Lioveiar iL(hss Ceuam(Hb Sbeg Hés
Gouair(HLb.
iv. @g Hmellsmmhgy Qarss Gung &srgmyd &L b 1955 whmib Gl grev Cumg)
&&ngmyE sL1b 1939 opdlueimenn wromluyerers.

A:-All the four statements are true
BITE0T(S &nHMIGEHLD 2 _EOuTenLD

C:-Only ii and iii are true

i omIb iii L HGW 2 e
D:-All except iv are true

iV 36l LDHM MGG 2 GHTEnLD
Correct Answer:- Option-A

Question100:-According to recent data by Election Commission of India, which
state/UT had the highest percentage share of female electors in 2024

@QpdHw Caisd ymamusdler sSusHWL Sreysefleriiy, 2024 b oy arTiqed 6THS THlELD
Jyeiwer rGsen Queadt eurssrerisaier <ife F56ils Lnhimss ST (HHhsg ?
A:-Kerala

Gsrerm



B:-Gujarat
GRITS

C:-Puduchery
Lg1&Ca

D:-Rajasthan
JTED GG TGO

Correct Answer:- Option-C



